8.53

—— FE TR (L
—— LR (KAL)

HFAZEB

/

=

15.0
14.0

z'z

(SY¥)€zoT
(v¥)zeoe
(gd)TToT
(zY)0zoe
(Td)610C
Aomwiﬁo
AmNIVNﬁo
(8TH)910C
AANIVmHo
Aomxvvﬁo
AmNIVMHo
(VTH)ZTOT 3
Ammrvﬁﬁom
(TTH)0T0T
(TTH)600T
(0ZH)800Z
(6TH)L00T
(8TH)900Z
(£TH)S00T 1
(9TH) 00T
(STH)€00T
(¥TH) 00T
(€TH)TO0T
(TTH)000Z
(TTH)666T
(0TH)866T
(6H) 66T
(8H)966T 3 H €3p€T0C
(LH)S66T
(9H)v66T
(SH)€66T * S22 4014
(YH)Z66T
(EH)T66T
(TH)066T % H13pEzoe
(TH)686T

ESSES

k43404

T—HIZ

HTT35€20T

2550

WRATROKEEHELTLET .

S04

—— A F T KL

EEZ 144

XF‘*M’.E{&L%E&LT’#F‘P
HUEFT:+0.39m H1FEH :+0.18m

E83p€20¢

B £35€20C

AEF

H945€207

JHBAEB

=

p EEEA 44

4 EhE:7 44

15.0
14.0

A 13.0
12.0
11.0
9.0

8.0

7.0

6.0

5.0

:'Z

1y

s

X

7

f 100
=

=

(&)



